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X1 Cmanebi KoHCMpUKLU)1:
KP2 1802H/5-2 KpowmedH KP2 2 | L1
KP4 180.2H/5-5 KpoHwmeuH KP4 1| 362
> KPS 1802H/5-T KpowmeiH KPS 1| 217
BIM1 180.2H/5-31 Ban npubody BI1 2 | 13
X1 180.2H/5-28 Xomym X1 2 | 130
3m ACTY 47382007 3asemmpbansHud Opim #10; L=5 nM™. | 1 310
s Y rOCT 7798-70 bonm 12x40 9 | 005
BIT1 M [OCT 5915-70 [adka M12 9 | 002
LI [OCT 1371-78 IaGda 12 9 | 001
BCb020 Ha onopu, Ke. 63,19
/iHIUHO apMamypa:
1T | 1YY 26.2-00214652-003:2012 ||30namop We-200 2 | 350
Z TY 35-2036-90 Kobnadok Kb 2 | 003
B'aska cnipankHa AST 35 0,12 35 MM’
3 B'aska cnipankHa AST 70 1 017 [50-70 MM
B'aska cnipankHa AST 120 025 [95-120 MM’
B'aska cnipankHa GSTT 35 0,10 35 MM
L AT B'aska cnipankHa GSTT 70 1 014 |50-70 MM’
B'aska cnipankHa GSTT 120 020 [95-120 M’
5 Bamuckad BidzanyxybonbHuu PGALDZA 6 | 0,14
6 3amuckaod nnawkobud PGA101 L | 006
9 T4 Y 3400130441-030-96 3omuckoy anapamHud A2A [ ] | 6 | 023 |dub. 116/6
Mpub'A30HUG 10 TY Y 3.49-05758084-024-96 Po3'edHubay P/HO3-10/40041 1 L2
1 TY Y 3.49-05758084-024-96 [pubid MP3-1041 1 12
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